Z:\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.1.dwg

BMI

GENERAL NOTES

"BMI Frame"

COMPOSITE DOOR JAMB
INSWING / OUTSWING
"NON-IMPACT"

. This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building Code (FBC)

structural requirements excluding the "High Velocity Hurricane Zone" (HVHLZ).

. Product anchors shall be as listed and spaced as shown on details. Anchor embedment fo base material

shall be beyond wall dressing or stucco.

. When used in areas requiring wind borne debris protection, this product is required to be protected with an

impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2.

"HVHZ").

. This "NON-IMPACT" door jamb, as a component, is to be used as a substitute for a similar door jamb in a
non-impact approved door system possessing a current Florida Statewide Product Approval (excluding the

. The design pressure of the assembly shall be the lesser of the design pressure for the door jamb shown in this
approval or the design pressure of the door assembly used in conjunction with this approval.

. The maximum frame size of the door assembly shall be lesser of the maximum frame size stated in this
approval or the maximum frame size of the door assembly approval used in conjunction with this approval.

. For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x buck masonry construction.

. Site conditions that deviate from the details of this drawing require further engineering analysis by a licensed

engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes

Elevations

Horizontal cross sections

Vertical cross sections

Buck & frame anchoring

Buck & frame anchoring

N[O | A (WIN

Bill of materials & components

BMI Frame
Head & Side Jamb

74" MAX FRAME WIDTH ——

37.5 MAX
~— FRAME —=
WIDTH
= ;ﬂﬁ&
Q — E—
i
=
= X
s 0 X | ‘
é (0} (o}
>
5 | fd
Ol 0
SWING DOOR
UNDER SEPARATE
APPROVAL

P.O. Box 230, Valrico, FL 33595
813.659.9197

,
BUILDING CONSULTANTS, INC.
Phone No.:
FBPE Registry No. 9813

Lyndon F. Schmidt
P.E. No. 43409

Ry

BMI
COMPONENTS

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

X 37.5"x 81.5" +60.0 -60.0

ATE: 7/05/22

SCALE:  N.T.S.

XX 74.0" x 81.5" +60.0 -60.0

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
FL—41560.1

SHEET 1 oF 7

© 2022 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLITINENDD oNIaINg ‘M'd 2202 @

€186 "ON Ansibey 3dgid - SNOISIAZY
LBLB'6G9°CL 'ON suoyd A 31va [ON -
S6SES 14 ‘OOUIDA ‘OLZ X0 ‘O'd \SV SNOUVAT T m & £ W 3 _M_
"ONI ‘SINVLINSNOOD ONIdINg @ ‘ATENESSY M0 Livd 9 _m = Pl
11/ NERELa AR
INO/o 1), 60¥EY "ON “3'd SININOJWOD N Elgle | |
eal %&\\\\ IPILYDS 4 uopuk] INg i M sle|ET |5
R ‘ .... W\u\\ :Ag pespdesd sjuswinsoq :10NA0Md = W 5 m &
\NMN‘ .
II+IWXMN
S8
6/// a nNu
\
2y
<h=
Q0T
o > i Z
QQ%0
i = —
QO3 n_.,....v
% 22z
T.l
8233
OO0 w0
RO QAN
G O |
ZX 30
T80z
w = Z ek
Q-5
(%0 ] o - I
w O o
2 Z
<=5
O
P z wles & =
, O owatQs5
_.Al Zlon €A <
>
Ll
o
d e~
= T (@]
| =t (@]
(o)
Y
(9 3
S < 5
D
1
=
o
T
<
~
-« <
< &
@)
~ @)
X a
L
o
> =
/p]
@

Bmp'L'095 LP-14\(0202) 095 LY Td\sBuimesq - D\095 Ly-T4\s|erosddy 1onpoid epuold - VAING\SIUBID\'Z



Z:A\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.1.dwg

1-1/4" MIN.

EMB. (TYP.)

71"\ HORIZONTAL CROSS SECTION

0.15"
—=] |=— C'SINK

(TYP.)

INTERIOR

X
& .
1-1/4" MIN., N

v

EXTERIOR
®

3

\\ L]
EMB. (TYP.) SR

No. 43409

7”2\ HORIZONTAL CROSS SECTION

2X Buck Construction 3
Qutswing Shown {inswing Similiar)

1-1/4" MIN.
EMB. (TYP.)

INTERIOR

A\

EXTERIOR

5%

/"3 "\ HORIZONTAL CROSS SECTION

3 / Shown w/1X Buck o
Outswing Shown (Inswing Similiar)

2X Buck Construction
Outswing Shown (Inswing Similiar)

1-1/4" MIN.
EMB. (TYP.)

INTERIOR

N

EXTERIOR

A\

/4 \ HORIZONTAL CROSS SECTION

3 / Shown Direct fo Masonry
Qutswing Shown (Inswing Similiar)

1y /"

X i

s
.
L]
[
]
%'
2
*

-

/,

A
N
\\

\\\‘\\

BUILDING CONSULTANTS, INC.

Hip

. SIAIEUF
‘2,3 /ONAL

/,,
813.659.9197

P.0. Box 230, Valrico, FL 33595
Phone No.:
FBPE Registry No. 9813

Documents Prepared By:

tyndon F. Schmidt
P.E. No. 43409

Ry

BMI
COMPONENTS
PART OR ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

NOJ DATE

bAE: 7/05/22

scaE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
FL—41560.1

SHEET _3 oF _7

© 2022 R.W. BUILDING CONSULTANTS [NGC.



'ON| SLINVLINSNOD SNIGUNE "M'Y 2202 O

£186 "oN Ansibsy 3484 SNOISIATY

LBLB'6G9'CL8 'ON euoud Ad J1vd [ON
GESEE 14 "OSUIBA ‘OSe Xog ‘O'd \Su SNOILO3S SSOHO TVOLHIA
g IATAWN3SSY ¥0 1Uvd

*ONI ‘SINVLINSNOD ONIgHNg

A WNO/, 80vSH ON ‘I SININOdNOO
l/@% . \Q@&\\\\\\ WPIYog “d covmxm__ ng
2

Joivig "~ :Ag petpdeid sjusuinsog *LONA0Hd
-
L2

Rty p

LFS
RW

N.T.S.

FL—41560.1
SHEET _4 oF _7

oae: 7/05/22

CHK. BY:
DRAWING NO.:

SCALE:
DWG. BY:

(dAL) ‘an3
NIW.¥/1-1

\W/\

INTERIOR

("dAL) "aw3
"NIW ./ 1-1
N ("dAL)
c —=1 |=— 3NIS.D
S0

W

/"4 \ VERTICAL CROSS SECTION

Outswing shown {Inswing similar)

W Shown Direct to Masonry

Jd

EXTERIOR

EXTERIOR

SAEARRAVALRRN LYY

v

/" 2"\ VERTICAL CROSS SECTION

Inswing Shown {Outswing Similiar)

W 2X Buck Construction - Double Door

{'dAL) "awa
NIW ./ 1-1

INTERIOR

INTERIOR

("dAL) "aW3
NIW ./ 1-1

v

/3 VERTICAL CROSS SECTION

\UShown w/1XBuck
Qutswing shown (Inswing similar)

EXTERIOR
imiliar)
EXTERIOR

g

v

/1 "\ VERTICAL CROSS SECTION

&/

2X Buck Construction - Single Door
Inswing Shown (Outswing

INTERIOR

Bmp'L'095 Ly~ 14\(0202) 095 LY TH\sBuimeq - D\09S L ¥-T14\sjeroiddy 1npoid epuold - YAINE\SIUBID\'Z



2X BUCK

HEAD & JAMBS
(TYP.)

&
(TYP)

16'0.C.
MAX. (TYP)

MASONRY

2X BUCK ANCHORING

FRAME CORNERS ATTACHED w/ (3} 7/16"
CROWN X 1-1/2" LONG 16 GA. STAPLES & (2}
#7 X 2" DRYWALL SCREWS @ HEAD & SILL (TYP.)

S—

(TYP)

SEE HINGE

14'0.C.
MAX. (TYP)

9.38" FROM
TOP OF JAMB

]
L

L

DETAIL
(TYP.)

—]
50|
trd

31"o.C.
(TYP.)

f—
&

*%3,5"X 4" 20 GA. STEEL PLATE ATTACHED TO
BACK OF LOCK JAMB w/ {4) 1" CROWN X
5/8" LONG 16 GA. STAPLES

1l
1
e -

5.5"
46.875" FROM TOP
OF FRAME

==
e

SEE LATCH &
DEADBOLT STRIKE
DETAIL

(TYP.)

STRIKE JAMB

BUILDING CONSULTANTS, INC.
P.0. Box 230, Vairico, FL 33595
Phone No.: 813.859.9197

Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

BMi
COMPONENTS
BUCK & FRAME ANCHORING

PART OR_ASSEMBLY:

PRODUCT:

BY

g
(TYP.) ﬁ =
2x BUCK o
o 1X BUCK
DIRECTTO
- MASONRY | —
JAMBS
FRAME (TYP.)
FRAME
(TYP.) ~~
X
FRAME ANCHORING
““I ®
1D
2X BUCK ]
1X BUCK N
DIRECT TO 0
MASONRY \ 12
W\
LOCK HARDWARE

L]

Lol o)

1 1 1

il
HINGE JAMB
DIRECT TO
MASONRY
1X BUCK
. 2X BUCK

R0

HINGE DETAIL

INSWING

DIRECTTO
MASONRY

I

A; 1X BUCK
A 2X BUCK

.'\\@

A
\!

HINGE DETAIL

OUTSWING

NOJ DATE

DATE: 7/05/22

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
FL-41560.1

SHEET _ 5 oF _7

ZA\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL. 41560 (2020)\F.-41560.1.dwg

FBPE Registry No. 9813

REVISIONS

© 2022 R.W. BUILDING CONSULTANTS INC.



FRAME CORNERS ATTACHED w/ (3) 7/16"

CROWN X 1-1/2' LONG 16 GA. STAPLES & (2) L2
. ¢ #7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL Z3
— ey T YR 3" (TYP) ——6me) 8 §
. .' h B ‘("- o .‘_.‘a‘/ l—<—- 4" [TYP.) 4 4 (TYP) i A-l ‘ >~ O
RS, N i [ T l y =
o] i I T \ -
£ ! i ? 1 — 3
= 1: 1 «£ " oE
i £ - o OXBUCK I —| E SEE HINGE
:: I H DETAIL
i / 0 IXBUCK (TYP.)
2XBUCK |1 t - FRAME  [l— DIRECTTO ! N
oL | o | sz ) q
(TYP.) f HEAD & JAMBS | DETALS - B
) :: | _ ) i |
:: | S5
i B =
~omA T H =T - - 8 E ® -
Pt ] g %
N Il < l
A I — DOOR SILL = F
236 i JE (TvP) —
=i ! 1 2% - ! i
A YO VI AR O
L eI -3
/ HINGE JAMB
MASONRY
2X BUCK ANCHORING FRAME ANCHORING
DIRECT TO DIRECTTO
MASONRY MASONRY W\
1X BUCK 1X BUCK
2X BUCK 2X BUCK ASTRAGAL BOLT "@:>®
® o ©
j ) //\\ 7 i (:)< }4—__(:)
(o] O /1/ —
s / §§ 5'5 // \\ = - s / <> §§: ’i/ —~ \}\
o LATCH & DEADBOLT DETAIL
@ @D/ @SILL
@HEAD @SILL @ HEAD
ASTRAGAL BOLT STRIKE PLATE DETAILS ASTRAGAL BOLT STRIKE PLATE DETAILS
INSWING OUTSWING
HARDWARE DETAILS

l,,
-4?0,”, 0
.0..%2 %
AR
.3 L=z ~
i8Sy L2
YOSl 5o
FOS Z0g0
YOS SEuo
, S 3335
/, N .-
T A 5822
& On =B
B O x28
SEE LATCH & NEE, 28°%¢
DEADBOLT STRIKE \ §£3 § 2w
DETAIL ) gm§ ggé&
(mvp) L\ P
d
£3.
g gul @
o Jo
[©]
=
v
(&)
S
21 2
]
S5 134 %
Dg o <
= |3 &
Q |n
(& 2 3
EE
ASTRAGAL 2 S 2
2 g
0. a0
>..
m
N )DIRECTTO
MASONRY
TV T M )1X BUCK
o T % L )2xBucK
o] 2]
[ .:'< %
® {lje \@ @
ol
\
\ o
HINGE DETAIL
INSWING
DIRECTTO W
W\ MASONRY i
1X BUCK a
o [ ot 2X BUCK 2
o Hl S DATE: 7,/05,/22
o Hle \® scAE:  N.T.S.
\ DWG. BY: LFS
\ CHK. BY: RW
DRAWING NO.:
HINGE DETAIL FlL—41560.1
OUTSWING :
SHEET _6 oF _/

Z:A\Clients\BMN\A - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.1.dwg

@ 2022 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\BMNA - Florida Product Approvals\FL-41560\C - Drawings\FL 41560 (2020)\FL-41560.1.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) wWOOD
B 2X BUCK (G >=0.42) WwOOD
C 1/4" MAX. SHIM SPACE -

D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR [TW CONCRETE SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
N 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
] HEAD & SIDE JAMB (BMI WPC) COMP
/ WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4' X 4" HINGE STEEL
11 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL

2
(-

DOOR PANEL (BY OTHERS - SEE GENERAL NOTE 4, SHEET 1)

0
[0}
0
.M
% (4]
=
g e
zZ5a3
4 STy
4009
o B .n=
S - ” gL
* fg (,Jng-“ ON;%
- Njo D O %XZze
e ¢ Z o
S % 5 Eoa 0o
a £Q 4 ,cld
Qsﬁg 5024
. p a _Q‘ mﬂ_ﬁ_E
su
£
‘ g 52 S
238" ——————| § Sui g
>\ -
o Jao
1 WOOD PLASTIC COMPOSITE JAMB
BMI
0
=1
g1 2=
<3|, B2
= <o
S |8 88
. Qs
B xl @
§ o
’._.
o o
& £
>
il
)
z
Q
4
o
o
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted fo mainiain the min.
edge distance to mortar joinis.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance fo mortar joints, additional concrete anchors n
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. e
3. Concrete anchor table: a
______ o
4
~ oate: 7/05/22
ITW BUILDEX 3/14 1-1/4 3 1-1/2" SCAE:  N.T.S
TAPCON® 174" 1-1/8" > g .T.S.
DeWALT o N DWG. BY: LFS
ULTRACON: |  1/4 1-1/4 1 4 cHk. Bv:  RW
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain @ minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—41560.1

wood screws to prevent the splitting of wood.

SHEET _7 oF 7

© 2022 R.W. BUILDING CONSULTANTS INC.



